PRZEKROJE POPRZECZNE
SKALA 1:100

Pwykopu = 0,57 m?
Prasyou = 0,84 m?
Lumss = 6,20 m
Lumiesz.lousz = 5,40 m/ 0,82 m?
km 0+783 Luviazaa=5,10m
w.Scieralna = 5,00 m
Lskavp = 4,50 m
L=1,50m
[.=1,00m
L=1,10m

Pugeens = 0,49 m?
Prasgu = 0,91 m?
Lwms =5,00 m
Lurmiesz.lousz = 5,40 m/ 0,87 m?
km 0+832 Luvizaa= 5,10 m
Lwésierana = 5,00 m
Luar =2,80 m
L=1,80m
L=1,30m
[=1,40m

Pujs = 0,98 M2

Praye = 1,16 M2

Luws 25,50

Lumesose = 5,70 M/ 0,89 m2
km 0+860 L= 5,50 m

156,15 Lwscerana = 5,40 m
= Lues = 330 m

L=170m
L=120m
L=130m

Pugiens = 0,43 m?
Prasgu = 0,22 m?
Lums =3,90 m
Lwmesz sz = 4,30 m/ 0,44 m?
km 0+921 Luviazzca= 5,10 M
Lusserana= 5,00 m
Lser = 1,90 m
L=270m
L=1,70m
[=1,90m

Puytons = 0,39 m?
Pras = 0,07 m?
Loums = 3,50 m
Lurmesz.insz = 5,50 m /0,66 m?
km 0+955 Liviazaca = 55,98%m
wsceerana = 9,00 M
Lsap =1,00 m
L=210m
2=1,60m
L=1,70m

Puyions = 0,85 m?

Prasgu = 0,05 m?

Loums = 3,90 m

Luresz.iwsz = 3,20 m /0,38 m?

km 0+985 Luvesas=5,10m
159,39 w Scieralna = 5,00 m
——— ,,,,fH = Loy =0,70m
=— == Py
L=280m

L= 3,00 m



